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The word ‘entrepreneur’ was introduced
by :

(A) M. S. Dhoni

(B) Mukesh Ambani

(C) Jean-Baptiste

(D) Steve Jobs

The word ‘entrepreneur’ is derived

from ‘.. >,

(A) entreprena
(B) enereprise
(C) entaprena

(D) entreprendre

A person running several businesses at

the same time iS ..o,

(A) service entrepreneur
(B) portfolio entrepreneur
(C) private entrepreneur

(D) government entrepreneur

Which entrepreneur is not interested in

innovation ?

(A) Portfolio Entrepreneur
(B) Novice Entrepreneur
(C) Imitative Entrepreneur

(D) None of the above

BCOMH—-6004 (2)

First generation entrepreneur is one :

(A) who makes a company

(B) who makes an organization

(C) who starts an industry with
innovation and skill

(D) None of the above

Buying and selling of manufacturing
goods is related to which entrepreneur ?
(A) novice entrepreneur

(B) imitative entrepreneur

(C) trading entrepreneur

(D) portfolio entrepreneur

Who starts with an idea not for making
profit but for social welfare ?

(A) social entrepreneur

(B) imitative entrepreneur

(C) drone entrepreneur

(D) novice entrepreneur

What are the functions of an
entrepreneur ?

(A) risk bearing

(B) innovation

(C) organizing and managing

(D) All of the above
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10.

11.

12.
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Role of an entrepreneur in economic

development includes :

(A) promotes balanced regional
development

(B) encourages capital formation

(C) rural development and reduction in
migration

(D) All of the above

Entrepreneurship can
Gross National Product.
(A) increase
(B) decrease

(C) neither increase nor decrease

(D) None of the above

Entrepreneurship can
unemployment.

(A) increase
(B) decrease

(C) neither increase nor decrease

(D) None of the above

The economic factors include :
(A) capital

(B) education

(C) family

(D) caste

(3)

13.

14.

15.

Environment is a

of :

(A)

(B)

(©)
(D)

Which of these

combination

political and economic
social and cultural
legal and economic

All of the above

is not a type of

entrepreneurship ?

(A)
(B)
(®)
(D)

According to Schumpeter,

small business entrepreneurship
scalable entrepreneurship
large scale entrepreneurship

intrapreneurship

innovative

entrepreneurs would :

(A)

(B)

(©)

(D)

thrive in the market

not survive and disappear from the
market
within

get  absorbed larger

innovative businesses

get absorbed within non-innovative

businesses
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16. Which of these actions of an
entrepreneur will most likely result in
creative destruction ?

(A) Developing a new product

(B) Taking over a competitor business

(C) Issuing shares to individuals and
institutions

(D) Lowering prices of your product/
service

17.  Which of these theories involve taking a
moderate amount of risk as a function of
skill and not chance ?

(A) Need for achievement
(B) Need for affiliation
(C) Need for authority

(D) Need for independence

18.  Who should be involved in preparing a
firm’s business plan ?
(A) Accountant
(B) Engineer
(C) Entrepreneur
(D) None of the above

BCOMH-6004
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19.

20.

21.

What should be the main worry of a
company’s founder who asks for capital
in exchange for equity shares in their
venture ?

(A) Valuation

(B) Control

(C) Capitalization

(D) Legal formalities

The process of creating something new is
called :

(A) creative flexibility

(B) management

(C) Dbusiness

innovation

(D)

Ownership of less than 50% in a business
is called :

(A) majority interest

(B) minority interest

(©)

joint venture

(D) None of the above

Set-A



22.

23.

24,

25.
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What is the purpose of feasibility study
for starting a new venture ?

(A) exploring of potential customers
(B) estimate sales

(C) to understand if there are any

barriers to success

(D) None of the above

An individual who starts, creates and

manages a new business can be called :
(A) leader

(B) manager

(C) professional

(D) entrepreneur

Which could provide an individual with
the motivation to start a new business
venture ?

(A) financial rewards

(B) desire to be independent

(C) risk taking

(D) All of the above

Which of the following factors should
not be included in PESTLE analysis ?
(A) Government recycling policy

(B) Proposed reduction in interest rates
(C) Competitor activity

(D) Demographic changes

(5)

26.

217.

28.

Which sector promotes small scale
business and entrepreneurship and has

lower barriers to market entry ?
(A) Service

(B) Manufacturing

(C) Distribution

(D) Agriculture

Why are small business important to a

country’s economy ?

(A) They give an outlet for
entrepreneurs.

(B) They can provide specialist support
to larger companies.

(C) They can be innovators of new

products.

(D) All of the above

The use of informal networks by

entrepreneurs to gather information is
known as :

(A) Secondary research

(B) Entrepreneurial networking

(C) Informal parameters

(D) Marketing
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29. Good sources of information for an
entrepreneur about competitors can be
obtained from ....................

(A) websites

(B) product information leaflets

(C) company reports and published
accounts

(D) All of the above

30. A new venture’s business plan is
important because :

(A) it helps to persuade others to
commit funding to the venture.

(B) can help demonstrate the viability
of the venture.

(C) provides a gquide for business
activities by defining objectives

(D) All of the above

31. Innovation can be best defined as :

(A) the generation of new ideas

(B) evolution of new ideas

(C) opposite of creativity

(D) successful exploitation of new
ideas

BCOMH-6004

(6)

32.

33.

34.

Which of these statements best describes

the context for entrepreneurship ?

(A) It takes place in small business.

(B) Takes place in large business.

(C) It takes place in wide variety of
contexts.

(D) It does not take place in social
entreprises.

Entrepreneurs are motivated

0) Y2 .

(A) money

(B) personal values

(C) pullinfluences

(D) All of the above

.................... is the hallmark of

successful entrepreneur.

(A) Risk bearing capacity

(B) Persistence

(C) Flexibility

(D) Self-confidence

Set-A



35.

36.

37.
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EDP is required to help ........c.cceee. :

(A) existing entrepreneurs

(B) first generation entrepreneurs

(C) future generation entrepreneurs

(D) None of the above

Which of these risks are borne by an

entrepreneur ?

(A) Financial risk

(B) Personal risk

(C) Psychological risk

(D) All of the above

Which type of entrepreneur utilizes a

chance to introduce a new technique or

new product ?

(A) Innovative entrepreneur

(B) Fabian entrepreneur

(C) Initiative entrepreneur

(D) Instigated entrepreneur

(7)

38.

30.

40.

Ownership capital is also known

LR .
(A) debt
(B) equity
(C) loan

(D) mortgage

Which of the following is a remedy to

solve the problems of women

entrepreneurs ?

(A) Social attitude

(B) Finance availability
(C) Stiff competition

(D) Supervision

Which of the following is not a quality of
a successful entrepreneur specified by
McClelland ?

(A) Endowed with creativity

(B) High degree of ambition

(C) Enriched by high propensity

(D) Has astrong need for achievement

Set-A



41.

42.

43.
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IFCI stands for .................... .
(A) Industrial Finance Corporation of
India

(B) Institutional Finance Corporation

of India

(C) Industrial Funding Corporation of

India

(D) Indian Finance Corporation of

Industries

Large investment is made in fixed assets,

the project will be termed as :

(A) Capital Intensive
(B) Labour Intensive
(C) Product Intensive

(D) Market Intensive

To provide financial assistance to

entrepreneurs the government has set up
anumber of ... :

(A) financial advisors

(B) financial intermediaries

(C) industrial estates

(D) financial institutions

(8)

44,

45.

46.

Which of the following is not source of

idea for an entrepreneur ?

(A) Cost of project

(B) Product profile

(C) Imports and exports

(D) Emerging technologies

Which of the following behaviors is
successful

not associated with a

entrepreneurship ?

(A) research and development

(B) running your business on a day to

day basis

(C) continuous innovation and urgency

(D) production as per customer’s
requirement
EDP in Indiais .......cccoovnee. :
(A) required
(B) unnecessary
(C) waste of time
(D) waste of money
Set-A



47.

48.

49,

50.
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EDP provides ..........cc.cc..... .
(A) unemployment

(B) employment

(C) dishonesty

(D) corruption

Indian Entrepreneurship Development
Institute is located at .................... .

(A) Ahmedabad

(B) Mumbai

(C) New Delhi

(D) Chennai

SEZ Act was passed in the

1YL | TR :
(A) 2004
(B) 2005
(C) 2006

(D) 2007

Which state has maximum number of
SEZ’s ?

(A) Telangana

(B) Tamil Nadu

(C) Karnataka

(D) Uttar Pradesh

(9)

51.

52.

53.

54.

The theory of innovation was given by :
(A)  Marshall

(B) Schumpeter

(C) Ricardo

(D) None of the above

Entrepreneur is compensated with factor

reward ........cceeueene. )

(A) interest

(B) rent
(C) profit
(D) price

Entrepreneurial process begins
with :

(A) concept development

(B) idea generation

(C) collection of resources

(D) None of the above

EDP stands for :

(A) Entrepreneurship Development
Programme

(B) Electronic Data Programme

(C) Entrepreneurship Data Programme

(D) Entrepreneurship Data Processing

Set-A



55.

56.

S57.

58.

Entrepreneurship helps in .............. :
(A) employment generation

(B) Dbetter utilization of resources
(C) development of infrastructure

(D) All of the above

“Entrepreneurial  development is a

threat to public enterprises.” The

statement is :

(A) True

(B) False

(C) Partially true

(D) None of the above

................... project organization is based

on different functional areas of the

concern.

(A) Functional
(B) Matrix
(C) Both (A) and (B)

(D) None of the above

NPV stands for ......cc............ .

(A) Net Present Value
(B)
(®)

(D)

New Point Value

Net Prior Value

New Present VValue

BCOMH-6004
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59.

60.

61.

62.

Types of project appraisal include :
(A) technical
(B) market and demand

(©)
(D) All of the above

societal

Social appraisal involves checking of a

Project’s .oovveerverinnnns efforts.
(A)
(B)

(©)
(D) None of the above

societal
economic

commercial

Pay-back period means :

(A) period in which payment is to be
made.

(B) period in which payment is to be
received.

(C) period in which amount of
investment is recovered.

(D) None of the above

Mutually exclusive projects signify :

(A) accepting all proposals

(B) accepting one proposal

(C) accepting one and rejecting other
proposals

(D) None of the above

Set-A



63.

64.

65.

66.

BCOMH-6004

Project identification begins with : 67.

(A) idea generation
(B) screening
(C) availability of funds

(D) None of the above

68.

Which of the following is not a project
management goal ?
(A) Keeping within

overall costs

budget

(B) Delivering to customer on time 69

(C) Maintaining a happy team

(D) Avoiding customer complaints

Which of the following is not considered

a risk in project management ?

(A) Specification delays 20,

(B) Product competition
(C) Testing

(D) Staff turnover

The process each manager follows during

the life of a project is known as : 71.

(A) Project management
(B) Manager life cycle
(C) Project management life cycle

(D) All of the above

(11)

A 66.6% risk is considered as :
(A) verylow

(B) low

(C) moderate

(D) high

Quality planning is the process of

developing a plan for :
(A) team

(B) project

(C) customers

(D) project manager

Identify the subprocess of process

improvement :

(A) process introduction
(B) process analysis

(C) de-processification
(D) process distribution

A horizontal bar chart that shows project
tasks against a calendar is called :

(A) Milestone
(B) Goal

(C) Gantt chart
(D) PERT chart

The statistical tool that depicts a project’s
tasks and relationships between those
tasks is known as :

(A) Milestone

(B) Goal

(C) Ganttchart

(D) PERT chart

Set-A



72.  Which of the following is not a part of 76.
project management ?
(A) Initiating
(B) Monitoring
(C) Closing
(D) All of the above are parts
73.  Scope of work is defined in which phase
of project management ?
(A) Initiating
(B) Planning
(C) Executing 77.
(D) Closing
74.  According to Oliver Misley, the 4 P’s for
success of project are :
(A) Plan, Process, People, Policy
(B) Plan, Process, People, Power
(C) Plan, Process, Potential, Policy 78.
(D) Plan, Process, Potential, Power
75. The application of special purpose
material handling equipment is :
(A) both process and line layout
(B) process layout
(C) line layout
(D) None of the above
BCOMH-6004 (12)

With reference to problem solving

fixation refers to :

(A) focussed approach to problem
solving

(B) planned approach to problem
solving

(C) an ability to see a problem from a
fresh perspective

(D) an ability to comprehend the goals

to be achieved

An individual investor who invests in the
project usually during an early stage is :
(A) corporate strategic investor

(B) founder capital

(C) angel investor

(D) venture capital

Which one of the following risks can be

reduced by investing in project or
acquiring other firms that have a negative

correlation with the earnings of the firm ?
(A) Investment risk

(B) Business risk

(C) Financial risk

(D) Portfolio risk

Set-A



79.

80.

81.
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Consider the following phases of project 82.

management :

(1) Identification

(2) Formulation

(3) Appraisal

(4) Implementation

Which of the above phases are relevant,
sequentially ?

(A) (1), (2) and (3) only

(B) (1), (2) and (4) only 83.

(C) (3)and (4) only
(D) (1), (2), (3) and (4)

During an assessment of economic
viability of the project, the ratio of
average annual earnings after tax to the
book after

average investment

depreciation is called :

84.

(A) Benefit-cost ratio
(B) Net present value
(C) Payback period

(D) Return on investment

In a project life cycle, the maximum % of
effortisdonein .......c.cc........ phase.

(A) concept

(B) definition

(C) planning and organizing

(D) implementation

(13)

In which of the following stages are
project objectives established, teams

formed and major responsibilities
assigned ?

(A) conceptualizing

(B) defining

(C) planning

(D) executing

The successful project managers spend

most of their time :

(A) planning with their personnel

(B) planning with the top management

(C) communication with the project
team

(D) studying project results

Why is it important to understand your

stakeholders ?

(A) They may work in a different
department or company.

(B) They may have different technical
backgrounds.

(C) They may not care about the
project.

(D) They can be a positive or negative

influence on the project.
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85.

86.

87.

88.
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How does a project differ from an 89.

ongoing work effort ?

(A) Itisunique.

(B) It involves more than one person.
(C) It has a project manager.

(D) It is not a repetitive process that
follows an organization’s existing

procedures.

What is

planning ?

the first step

(A) Establish the objectives and scope
(B) Determine the budget

(C) Select the

model

team organisational

(D) Inspect the deliverables

91.

The PERT in project management means

Programme  Evaluation

Technique.

(A) Resource

(B) Reconciliation
(C) Reconsideration

(D) Review

Risk is usually ................ as the project 92.

progresses.

(A) increases

(B) decreases

(C) remains same

(D) becomes negligible

(14)

in project 90.

Assembling project team and assigning
their responsibilities are done during
which phase of project management ?
(A) Initiation

(B) Planning

(C) Execution

(D) Closure

The basic nature of a project is .............. .
(A) Permanent

(B) Temporary

(C) Both (A) and (B)

(D) None of the above

A process that involves continuously
improving and detailing a plan as more
details become available is termed as :
(A) project analysis

(B) project enhancing

(C) progressive deliberation

(D) progressive elaboration

A program is usually a group of :
(A) plans

(B) people and work

(C) related projects

(D) unrelated projects

Set-A



93.

94.

95.

96.

In SHG most of the decisions regarding

savings and loan activities are taken by :
(A)
(B)
©)
(D)

Bank
Members
Non-government organisations

State Government

Formal sources of credit does not

include :

(A) banks

(B) cooperatives
©
(D)

employers
employees

.................... takes into account the total
earning expected from an investment

proposals over its full life time.
(A) Payback

(B) Accounting rate of return
(C) NPV

(D)

Internal rate of return

Special economic zones are ............... :
(A) the places where industries can
operate without any control

(B) the places wherein any person can
start any industry

(C) the places where industries get
certain tax advantages

(D)

the places wherein the national

labour laws do not apply

BCOMH-6004
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97.

98.

99.

Project appraisal is done by ................ :
(A)
(B)
(®
(D)

government

financial institution only
entrepreneur only

and

Both financial institution

entrepreneur

Senior members of the project team must
be :
(A)
(B)
(©)
(D)

Politically sensitive
Active
Dynamic

Decision makers

Project workers need high :
(A) Intention
(B) Self-esteem
(C) Goal

(C) Attitude

100. Which is the part of entrepreneurship

process ?

(A) Managing the venture

(B) Determination of resources
required for starting the venture

(C) Identifying the opportunities

(D) All of the above
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11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :
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[llegible with  cutting
over-writing or half filled circle will be
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answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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